TGT Hindi

Q 1). In June 2025, at which of the following places Shri Amit Shah has inaugurated the
National Turmeric Board headquarters?

(A) Nizamabad, Telangana

(B) Meerut, Uttar Pradesh

(C) Indore, Madhya Pradesh

(D) Raipur, Chhattisgarh

Correct Answer: (A)

Q 2). The World Health Organization (WHO) has recently praised India for

(A) Launching the first AI-Powered vaccine distribution network.

(B) Creating a global database of all herbal medicines used in India.

(C) Using Artificial Intelligence (Al) to modernize traditional medicine.

(D) Implementing nationwide Al automated hospital administration.

Correct Answer: (C)

Q 3). The World Games 2025 took place in which country in August 2025?

(A) India

(B) China

(C) Brazil

(D) USA

Correct Answer: (B)

Q 4). PPT with pictures and description is which type of teaching aid?

(A) Audio

(B) Visual

(C) Audio-Visual

(D)Non-Projected

Correct Answer: (B)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior

(B) Praising a child for completing homework

(C) Removing TV privileges for poor grades

(D) Ignoring a child's tantrum

Correct Answer: (B)

Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)
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Q 7). FFraffEd & -8 T G Fa Ud gR1 IRd e 82
(A) UeTd
(B) =T
(C) dtom
(D) fed fopiesit
Correct Answer: (D)
Q8). TR 8 X! s,
Ted b el dc W g
ARt 3R Urea Tsal & 31 g2
(A) FRAT R TR
(B) dfe=it 3R TaT
(C) 7l 3R T@E
(D) I $R TR
Correct Answer: (C)
Q 9). f&t U & IgHT 3R faH™ &1 qe! HH HH-AT15 2
(A) TP, TTe, UTehdl, MUY
(B) TTfT, UTepel, ST, TRl
(C) Y, T1Sd, TIfer, TRl
(D) UThd, (U, UTfe, T¥pd

Correct Answer: (A)

Q 10). “TRIH” HT faaH=TsE T BT

(A) WA

(B) W=

(C) e

(D) RYH

Correct Answer: (B)

Q 11). HfAT B¢ BT DI TT ALV TG g 2

(A) BT & TRI TRON H 31-31 AETE B €

(B) I8 U AT B & forIdh Ude arul # 26-26 90f g1 B
(C) B & IRI TN H 16 -16 HHTE Bl 3 |

(D) I8 TS T ©¢ & fors Ul TR H 31-31 Juf g1 B
Correct Answer: (D)

Q 12). “"IAGHT” Ug BT [aUg Ydob THN-ATH &1 R

(A) TaT-HHd § ST - g5 99

(B) Il HHd - FHYRY JHY

(C) T 8 HHA S - STHHTT THY

(D) I DT S - TGS JH

Correct Answer: (B)
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Q 13). Fafifad & fog e & srgfe 82

(AP +Y+ 3 =8

B)q+I+3H=7

O)S[+¥ =4

D) G+ +3T=7

Correct Answer: (C)

Q 14). “fAHTaHEE IR fFad gRI ved 93 87
(A) STTATY

(B) GUST

(C) W

(D) HHE

Correct Answer: (C)

Q 15). "3HY WIS - HWHY, 3575 1 91 g " Ufda # ffed SR &1 711 Farsu|
(A) TH® ADR

(B) TV 3(HR

(C) IhITad STADR

(D) ITRG ABR

Correct Answer: (B)

Q 16). FfeiRad Hfadl & @1 a1 Bi Afdee @ T T8 82
(A) fagrdt @t

(B) AR

(OR-CL

(D) EH

Correct Answer: (D)

Q 17). FAgffed & & ®F-ft Sfa fA=ren oft &1 78t 82
(A) DD

(B) T

(OYCEILIR

(D) 3HTHST

Correct Answer: (C)

Q 18). “UJ@= A Ueg | -t guf eafar g2

(A)9

(B) 10

(€) 11

(D) 12

Correct Answer: (D)
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Q 19). AT # 9ieg e HIH-1 T8 82
(A) UBS
(B) PRId
(C) UTaTan
(D) TRUIE
Correct Answer: (C)
Q 20). NIRRT T BT a9 | TGP D 7Y UY BT IR dHfore-

3T O &1 1 ¢ | FasTu= 7 ITeqd § - 31U 9 & Sfaun ! fesuras I Uil
DI TSI & 1Y ST & A G| G5 & T[01 B Td] 8T STIAH ol & 139 a8
3T I DT TR AT o [a0 Saa g Tl Bl a¥g Bl Wkie o Bl 3371 Uadd I
TSAR gl oY | AT I8 Y ST o 37 U 3 Hg 4t a¥g o forg U9 81 & | T g ot
Y oY o I8 & i H off ST SRt 1 I 3 avq SNIR | IUAs ¢ | AT I8
Wi 4 ST fob STp1 I 9 P SHTaIehdl 51 Tol & | AT Ig Y Yl ST b T &1 €y
T g8 9] g1 it 81 Tl ¢ | fasoe &t gy & Sg &1 gl df [ §1d ¢ o anl
1 T AT & 6 38 9 & 7 A 8 7! GrATioTes TSI &, 5 fomT ofteT +ft e St
22 TS ST T a¥q &, forenT fagma= 7t 82 SR, fa1 fagu= & oft o avg &1 Tqoram
B Tobd! 22T ) & wft It safad ) T B THTfad B ol 8 1 31T I 8
gl & A 8 ¥ T § g UG o it 8| af e SuaiT &1 axgsf & sifalad fafid
THR & RYM 3@ &I Hifgd HRd & | AT B AIDHR o Ao o1 -To1 14d X861 82 Soidhd
dl 3T 31 ArgA it gfHar R & il TRiE Ihd g1 AT § oid- &1 U ol eI -
HHISH 3R IST3N 13T BT FTATS UFANT 361 T9 & IUANT R fed! g1 Aid A fomm o
3T 3T TOTaT aTel! a¥g Bd WRIG UTdT | Xg1-Tg! ek T R od & gIR US| 371
D1 UE Igdl SUTINIAIAIE T U Bt &7 dl a1 §, o T N IpR e axars 3 Tgl 3l
T ] | fasToe SR TR & g&H oF AR AHRTGd] 964 X3 o | 98 T 3R aRfierur
S o1 FIpT 82 3111 HIS-HTE T ST 81 X8 &2 §¢ HI-a1U BT §eaRT 81 741 S T3 oIy
T 357 P faa=1 81 U §, 1 ™ gRI S9! <t O aTdl! &f AT IR 38 82 P8l TS
YRTT faRmaa? Ty, SHHER! <rafiadr, 94T, 9 3R RIUGR & Jed $Hel ad 02
Y, HIRTRT, TR TEINT, T, fayrg Fgl 0 ge T2 I8 i 7 Jard g ara it
IS AFadT B fhg 3R 3R BBl & SITT?
farTa § YR ariral &t @ e g2
(A) TR, 31Rred 3R Y
(B) T[T, SAMCRY =mafdrrar, T, I 3R WRIUHR
(C) YOI, 31, W, SEAm
(D) B T JATT 1 arelt 3feft Grs

Correct Answer: (B)
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